EAGRAROBREERT — 2 N— ABISH —F 2020512532080 (H) 3E4=R6H

W+ S REEIE L REF T8 (xwlw | lmEmml - (w5 oo 8

[A&4)] 1 7% :7,900,000 @ 23 :3,200,000 3 3 :2,000,000 @ 43 :1,200,000 @ 5 j& :790,000 M

& % B BB Mk ME BF (&) 24 L (&%) | @BIBfr | £3F |SIEH | AK | AE | R FIR) / BE / £EHS

5 o7 | ATEER 3:20.1 2-2-2-1 [13.3| — 1 490 | FRE (EH)

1 9| Y—TA—b 8.0 (—) +2) (E)Eﬁwu-y K77 —L
RN—ErTr— B:ELO-JOCKR =¥ Tr— L
e~ o . tEFF R :20. 74~ . - BAFE (EXR)

1 - DS e = IR R TS | EeE
RiwYULTyk BihCRY 0] =
IS 5 | 2FNE 3:20.6 1-11-10-9 | 13.4 | — 1| 466 |FIREE (ERH)

3171112 7EVT 58.0 @) (1) | B JUTEF—¥FTLy KR
vy ETyAk B/ ITkLS b BEX &Y K

R > REEH : -10-10- — BFE— (E#)
alsle| ¥77o k717 > 9| B& 3.(231).1 9-10-10-7 | 13.4 8 ;1_742) m%)a:ag
RZAFAT—IE BiLy REAVESR BRI
— . KiIFEE 121, -3-6- . — EEFIRL (Ei)
5 8| XTUTILT =LK o4 &5 3(251)9 3-3-6-5 | 13.5 9 (554) i
LA agHLyy B:iA4amhL> EEickie
- = ) 47 | NEFHX 3:22.3 7-7-8-6 | 13.5| — 10 | 504 |AFEMK (i)
67|10 ®@TF=71—TNLY 60.0 2172) (+1g) | HIBER
L:T772)I7 B:TULEITILY Rl =X
-2 S > 3| LHM 3:23.3 1-1-1-2 | 13.6| — 13 | 454 |KBEE (FH)
7l5|7|=¥/AYUTR - 58.0 ®6) (+2) EU.I;T‘T
REATAT v — B:TTyTATN—b HET7— L
. # 5 | BB 3:23.3 4-5-7-7 |13.6| — 3 492 | AR (RR)
gl1l1|b—>L1h- 60.0 (172) (t1g) | IHEE
R:ANT -7 B:YIN—E—b 7975 TT—L4
N N N EEFRER :23. ~6-4- . — REEE (ERH)

9 5| vrLENgT I # o7 o= (31213/45) 4-6-4-4 | 13.6 5 ;1;8) e}
RihriNZ— B4 X3Iavx> 48— BHIT7— L
== == # 8 | =HEE 3:24.3 9-7-9-10 | 13.6 | — 4 434 | SEHA— (ER)

10l8/13| 7272727 60.0 () (-4) | ZTTRE )
RL:ZFAT—ILK B:AUIVXR> 1&E 5L
- > 3 | EARER 3:26.9 12-12-12-11{ 13.8 | — 6 508 | EAE (EXR)

1118112 JTAILZX b - 58.0 (21 4%) (+12) (#%) /—ZXEeXx

¥, BEFRHTCTAUR LS
N N REREX : -13-13- - HFEAET (EX)

12 4 ®J 4 —JA X o ;M é?% 18-13-1312) 14.3 2 :ﬁ Eﬁ?

LI ATA—H— BT E—7y R KEH
N IHSES - -3 - - =Ll NES)

£ 3 AT TIvT "o 60.0 (h1k) ez ? :ZO) BHA
RTIRRAFTEN B ATON—I21—X L9457 —14

@ 71 L

) 53.2-40.2

NAZEA L

® I —F—EBIERL

13=7r= 7-9,8(5,1,3)-(2,10) (6,13)11,12-4

Pol=5r= 7,9(8,3)1,5(2,10,13)6,11,12=4

G=57= 7(9,3) (2,5)8-1,10,13(6,11)-12=4

43—+ — (7,%9)2-5,8,10-(1,6)11-13,12=4 3

[ RN

B OB 9 170 714K 2-9 740M e & 2-6 1,910 &R 2-9-11 32,870

1 B 9 120/ 9-11 3,110 B & 2-9 1,500 B 9-2-11 78,680

2 440/ 2-11 11,870 B H 9-2 2,010/
1 1,490

ABRICOVTHRTEEERROODE, THEB LS,




